(&EX] A2 71271 21/107H)

e T = o & = | d@ =
A = Eg | S| ASHE ES e ES et | E2 ) E 2|y 2t

20094 83 1,20011,109]1,032|1,003| 883 |1,250 |1,151 |1,252 1,158 |1,250|1,178|1,250|1,168

9g 1,279]1,148/1,032|1,002| 882|1,325|1,175|1,329|1,181|1,329|1,218|1,329|1,208

108 1,386]1,276|1,146|1,116| 996 |1,410|1,297 |1,414 1,300 | 1,436|1,339 | 1.445|1,338

e 1,24811,196 1,141 [1,111] 991 1,260 |1,205 | 1,267 | 1,215]1,248|1,200 | 1,257 1,196

128 1,16711,14211,12211,092| 972 11,160 1,127 |1,170]1,1371,142|1,120 | 1.152|1.110

20104 18 1,21211,192|1,172]1,14211,022 |1,199 | 1,169 | 1,209 | 1,179 1,203 1,183 | 1.213|1.173

2g 1,22411,20411,184 1,154 11,034 |1,217 |1,187 |1,207 | 1,177 | 1,207 | 1,167 | 1.211|1.164

EE 1,24611,226|1,206 1,176 |1,056 | 1,221 |1,191 |1,231 | 1,201 | 1,226|1,186 | 1.222|1.186

44 1,176/1,150]1,130|1,100| 980|1,127 [1,097 |1,127 | 1,097 |1,112]1,082 | 1,117 |1.082

58 1,17911,14911,129]1,099| 979|1,129 1,099 1,129 1,099 |1,109|1,079 | 1,119|1.079

6% 1,152]1,115]1,092|1,062| 942 11,102 1,062 | 1,102 | 1,062 | 1,082| 1,040 | 1,092| 1,040

78 1,150]1,090|1,060|1,030| 910|1,100|1,030|1,100|1,030|1,080|1,000 | 1,090| 1,000

8 1,313]1,207 1,144 |1,114| 994 11,253 |1,131 1,253 1,131 |1,214|1,093 | 1,215|1,093

9g 1,56811,428|1,308 | 1,278 |1,158 | 1,480 | 1,350 | 1,480 | 1,350 | 1,448 1,298 | 1,448 | 1,298

108 1,501 ]1,432|1,357 1,327 |1,207 | 1,427 |1,318 | 1,427 | 1,318 | 1,391 | 1,302 | 1,391 | 1,302

e 1,45811,428 1,398 | 1,368 | 1,248 | 1,365 | 1,325 | 1,360 | 1,325 | 1,334 | 1,303 | 1,334/ 1,303

12¢ 1,504 1,474 11,444 |1,414 11,294 |1,414 |1,374 | 1,414 |1,374 1,374 |1.354 | 1.374|1.354

14 1,595/ 1,565 1,535 1,505 1,385 | 1,509 | 1,469 | 1,507 | 1,467 | 1,461 1,441 | 1,461 |1.441

18234 [1,670|1,640|1,610|1,580|1,460|1,580|1,540|1,580 1,540 | 1,530|1,510| 1,530/ 1,510
302 |1,670]1,640]1,610|1,580 1,460 | 1,580 | 1,540 | 1,580 |1,540{1,530|1,510| 1,530/ 1,510

2011 2g81e 11,670(1,640/1,610| 1,580 |1,460 | 1,580 | 1,540 | 1,580 [1,540( 1,530 (1,510 1,530 | 1,510

7¢ 11,670|1,640|1,610|1,580|1,460 |1,580 1,540 {1,580 | 1,540 | 1,530 1,510 | 1,530 | 1,510
92 |1,670|1,6401,610|1,580 1,460 |1,580 | 1,540 | 1,580 |1,540{ 1,530 (1,510 1,530 | 1,510
02 |1,610]1,580|1,550| 1,520 1,400 | 1,520 | 1,480 | 1,520 | 1,480 | 1,470 (1,450 | 1,470 | 1,450
42 11,610]1,580|1,550| 1,520 | 1,400 | 1,520 | 1,480 | 1,520 | 1,480 | 1,470 (1,450 | 1,470 | 1,450
1€ [1,610/1,580]1,550|1,520{1,400 |1,520 | 1,480 [1,520 1,480 | 1.47011.450 | 1.47011.450
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(RIRI71H, EA|, #/kg)

+ 5 2 £ M4l Ty OFHE OF
T = | = 2 cH | | |

20094 88 2,119 2,165 2,165 2,116 2,119 2,116 2,006
92 1,694 1,729 1,739 1,703 1,764 1,758 1,581

10¢ 1,403 1,443 1,517 1,407 1,470 1,453 1,313

1¢ 1,713 1,797 1,848 1,710 1,751 1,716 1,584
128 2,023 2,097 2,120 2,027 2,010 2,033 1,930
20104 1€ 2,055 2,155 2,190 2,055 2,059 2,029 1,977
2 2,397 2,426 2,426 2,393 2,397 2,297 2,397

3d 2,179 2,211 2,211 2,175 2,173 2,189 2,075

48 2,093 2,143 2,143 2,118 2,100 2,140 1,957

53 1,661 1,687 1,687 1,696 1,674 1,687 1,548

63 2,023 2,060 2,060 2,047 2,017 2,020 1,917

78 2,016 2,042 2,026 2,028 2,023 2,035 1,894

8 1,806 1,800 1,729 1,804 1,806 1,816 1,706

92 1,543 1,573 1,630 1,612 1,547 1,593 1,443

10¢ 1,687 1,755 1,855 1,749 1,687 1,694 1,574

18 1,473 1,567 1,667 1,557 1,480 1,480 1,373

128 1,577 1,577 1,581 1,611 1,581 1,587 1,471

18 2,000 2,000 1,913 1,959 2,010 2,003 1,887

198 24 2,100 2,100 2,000 2,030 2,100 2,100 2,000

30¢ 2,200 2,200 2,100 2,130 2,200 2,200 2,100

20113 28 1Y 2,200 2,200 2,100 2,130 2,200 2,200 2,100
7Y 2,200 2,200 2,100 2,130 2,200 2,200 2,100

9y 2,300 2,300 2,200 2,230 2,300 2,300 2,200

15Y 2,300 2,300 2,200 2,230 2,300 2,300 2,200

21d 2,300 2,300 2,200 2,230 2,300 2,300 2,200

224 2,300 2,300 2,200 2,230 2,300 2,300 2,200

(XCH1.BKgOIA, Z11.4~16kgolPt Al 4kgo|h

21719k 2011, 3815 199





